ANSWER KEY OF DCI-MDS ORTHODONTICS PAPER-I EXAM HELD ON 22.12.2019

]l (O] g a] ] qia] Eglnlal g alia] fa]ln] S 4(6] (O} [a] (@] ][] [a
o|~lo|lo|o|dla]os|w|o|~|o|lo|ofdla]o|x|v]|o|~|o|o|S
NN~ [~~|~[0|o|0|d|o|d|m|m|d|m|o|o|o|o|o|o|o|o|o|o|g
] ][] 4Gl Eq[n][al[G]qIOI g ial ] [a] (O] [0] B4 [a]l (] [G] 4L og [a]]u
sl I B2l B el Eed N el kel =1 Bl B Dl R Il el N Bl el =l e N I N e
VLLLL[L[v|v|v]|o|o|o|o|o|o|o|o|O|O|N~ ||~~~
<
HBDABCDACBACABCBBBCAABBCAC
wn
ol~|ololodln|m|s|w]|o|n|o|lo|o|d|N|o|S|(w|o|~|o|o|o
NjN[N[N[®[m[m[moooo|o|o| S| || S || [F[ < [F[F [0
alje][e][e][6][a]{e] L qie) a) ] a) g ] in] [a) 0] [0} (@] [2a] 2] 54 LS4 [G] £
NG ST I D E ] =g bag P Ry iy ety e parg e ] 15 BN BN ENT PTG




